Trigonometry

Sine and Cosine Rules
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Fig.7
Fig. 7 shows a sector of a circle of radius 5cm which has angle 6 radians. The sector has area 30 cm?,
(i) Find 6. [3]
(ii) Hence find the perimeter of the sector. [2]
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7 In Fig. 7, A and B are points on the circumference of a circle with centre O.

Angle AOB = 1 2 radians.

The arc length AB is 6 cm.

Fig.7

(i) Calculate the radius of the circle.

(ii) Calculate the length of the chord AB.
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Area of a Triangle
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5

A sector of a circle of radius 5 cm has area 9 cm?.

Find, in radians, the angle of the sector.

Find also the perimeter of the sector.
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